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THE GREAT PYRAMIDS             NAME_______________________
There are three types of pyramids that are used to compare the different trophic (energy) levels in a food web. 

A. an energy pyramid shows the amount of energy available at each trophic level if you start with a certain amount of sunlight.

B. a biomass pyramid shows the total dry weight of the organisms at each trophic level.  (The dry weight represents the stored energy in
                                                     the tissues of the organisms.) 
C. a pyramid of numbers shows the number of individual organisms at each trophic level.

Usually, pyramids show all the producers and consumers in a food web but for the purposes of illustration, we are going to use a simple food chain.

You will assume that 1,000,000 kcal of energy from the sun fuels this food chain.   Only 1% of this energy gets stored in the producers.   Only 10% of the energy at one trophic level is available to the next level.   Since biomass is directly related to stored energy, the 10% rule applies to biomass.
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Hints:  To get the kcals of energy for each level:  take 1% of the sun’s energy to get the energy in the producers; take 10% of the producer's energy to get the energy in the first order consumers; take 10% of the first order consumer's energy to get the energy in the second order consumers, etc.  

To get biomass, take the biomass of the third order consumer and multiply it by 10 to get the biomass of the second order consumer.  Continue for each of the next trophic levels.   To get numbers of organisms, divide the biomass of each trophic level by the biomass of an individual organism (given next to the food chain). 

On the pyramid below correctly label each trophic level and write down how much energy is available at each level.  This is an energy pyramid.
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QUESTIONS: 

1. Describe how a biomass pyramid would compare to an energy pyramid. 

2. Describe how a numbers pyramid would compare to an energy pyramid. 

3. Why is there less and less energy available to each trophic level as you move up the pyramid?

4. What happens to all the sun's energy that does not get stored in the producers? 

5.  Describe in detail why it is better for us to eat "low on the food chain." 

